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lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 
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1. The asymptotes of the curve xଷ +
yଷ − 3axy = 0 is :  
(A)   x + y + a = 0 
(B) y + x = 0 
(C) x + a = 0 
(D) x + y − a = 0 

 1. oØ xଷ + yଷ − 3axy = 0 ds vuUr 
Li’khZ gksxk % 
(A)   x + y + a = 0 
(B) y + x = 0 
(C) x + a = 0 
(D) x + y − a = 0 

2. The envelop of normal to a curve is : 
(A)   Evolute of that curve 
(B) Tangent of that curve 
(C) Envelope of that curve 
(D) None of above 

 2. fdlh oØ ij vUoyi dk vfHkyEc 
dgk tkrk gS % 
(A) boksY;wV ml oØ ij 
(B) Li’kZ js[kk ml oØ ij 
(C) vUoyi ml oØ ij 
(D) dksbZ ugha 

3. What is the envelope of the family of 
straight lines y = mx + ୟ

୫
, m is 

parameter : 
(A)   x = 4ay 
(B) yଶ = 4ax 
(C) y = 4ax 
(D) xଶ = 4ay 

 3. lh/kh js[kk ds ifjokj y = mx +
ୟ
୫
tgk¡ m iSjkehVj gS dk vUoyi gksxk 

% 
(A)   x = 4ay 
(B) yଶ = 4ax 
(C) y = 4ax 
(D) xଶ = 4ay 

4. Curvature is defined by : 
(A)   Rate of change of slope 
(B) Slope 
(C) Rate of change of diameter  
(D) Rate of change of area 

 4. oØrk dks fdlds }kjk ifjHkkf”kr fd;k 

x;k gS % 

(A) <+yku ds ifjorZu dh nj 

(B) <+yku 

(C) O;kl ds ifjorZu dh nj 

(D) {ks= ds ifjorZu dh nj 
5. The curvature of the curve at any 

point is equal to the : 
(A)   Reciprocal of the radius of 

curvature at that point 
(B) Proportional to radius of 

curvature 
(C) equal to radius of curvature 
(D) None of above 

 5. oØ dh oØrk fdlh fcUnq ij cjkcj 

gksxk % 

(A) ml fcUnq ij oØ dh f=T;k ds 

ikjLifjd  

(B) oØ dh f=T;k ds lekuqikrh 

(C) oØ dh f=T;k ds cjkcj  

(D) dksbZ ugha 
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6. The relation between S and ψ  for 
given curve is called : 
(A)   Intrinsic formula 
(B) Cartesian formula 
(C) Pedal formula 
(D) None of above 

 6. fdlh oØ ds fy, S vkSj ψ esa laca/k 

dgykrk gS % 

(A) bfUVªtd lw= 

(B) dkfrZ; lw= 

(C) isMy lw= 

(D) dksbZ ugha 

7. Radius of curvature of the straight 

line is : 

(A)   ∞ 

(B) 1 

(C) 0 

(D) -1 

 7. lh/kh js[kk ds oØ dh f=T;k gksxh % 

(A)   ∞ 

(B) 1 

(C) 0  

(D) -1 

8. For the cardiod r = a(1 + cos θ) 

radius of curvature ρ is : 

(A)   ρ = ଶ
ଷ
√2a r 

(B) ρ = √2a r 

(C) ρ = ଵ
ଶ
√2a r 

(D) ρ = 2a r 

 8. dkfMZ;kvM r = a(1 + cos θ)ds fy, 

oØ dh f=T;k gksxh % 

(A)   ρ = ଶ
ଷ
√2a r 

(B) ρ = √2a r 

(C) ρ = ଵ
ଶ
√2a r 

(D) ρ = 2a r 

9. Pedal formula for radius of curvature 

is : 

(A)   ଵ
୰
ୢ୰
ୢ୮

 

(B) r ୢ୰
ୢ୮

 

(C) ଵ
୰
ୢ୮
ୢ୰

 

(D) r ୢ୮
ୢ୰

 

 9. isMy :i esa oØrk dh f=T;k gksxh % 

(A)   ଵ
୰
ୢ୰
ୢ୮

 

(B) r ୢ୰
ୢ୮

 

(C) ଵ
୰
ୢ୮
ୢ୰

 

(D) r ୢ୮
ୢ୰
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10. If at any point tangent is parallel to x-

axis then ୢ୷
ୢ୶

 is equal to : 

(A)   0 

(B) ∞ 

(C) 1 

(D) -1 

 10. ;fn fdlh fcUnq ij Li’kZ js[kk 

lekukUrj gks x -axis ds rks ୢ୷
ୢ୶

 dk 

eku gksxk % 

(A)   0 

(B) ∞ 

(C) 1 

(D) -1 

11. Pedal equation of the curve r୬ =

a୬ sin nθ is : 

(A)   p = r୬ 

(B) pa୬ = r୬ାଵ 

(C) p = r୬ାଵ 

(D) None of above 

 11. oØ r୬ = a୬ sin nθ  dk isMy 

lehdj.k gksxk % 

(A)   p = r୬ 

(B) pa୬ = r୬ାଵ 

(C) p = r୬ାଵ 

(D) dksbZ ugha 

12. Length of the tangent in Cartesian 

form :  

(A)   ට1 + ቀୢ୷
ୢ୶
ቁ
ଶ
 

(B) yට1 + ቀୢ୶
ୢ୷
ቁ
ଶ
 

(C) yට1 + ୢ୷
ୢ୶

 

(D) ට1 + ୢ୶
ୢ୷

 

 12. dkfrZ; :i esa Li’kZ js[kk dh yEckbZ 

gksxh % 

(A)   ට1 + ቀୢ୷
ୢ୶
ቁ
ଶ
 

(B) yට1 + ቀୢ୶
ୢ୷
ቁ
ଶ
 

(C) yට1 + ୢ୷
ୢ୶

 

(D) ට1 + ୢ୶
ୢ୷
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13. Two curves intersect orthogonally if 

tan ϕଵ . tan ϕଶ is equal to : 

(A)   1 

(B) 0 

(C) -1 

(D) 2 

 13. nks oØ ,d nwljs dks yEcor~ dkVrs gS 

rks tan ϕଵ . tan ϕଶeku gksxk % 

(A)   1 

(B) 0 

(C) -1  

(D) 2 

14. Let ψ be the angle which the tangent 

makes with the positive direction x–

axis then for curve y = f(x) at point 

(x, y) which condition holds :  

(A)   ୢ୷
ୢ୶

= tanψ 

(B) ୢ୷
ୢ୶
≠ tanψ 

(C) ୢ୷
ୢ୶

> tanψ 

(D) ୢ୷
ୢ୶

< tanψ 

 14. ψ dksbZ dks.k gS tks fd Li’kZ js[kk x–

axis ds lkFk /kukRed fn’kk esa cukrk 

gS rks oØ y = f(x) ds fy, 

(x, y) fcUnq ij dkSu lk dFku ykxw 

gksxk % 

(A)   ୢ୷
ୢ୶

= tanψ 

(B) ୢ୷
ୢ୶
≠ tanψ 

(C) ୢ୷
ୢ୶

> tanψ 

(D) ୢ୷
ୢ୶

< tanψ 

15. If u = tanିଵ ୶
యା୷య

୶ି୷
 then : 

(A)   x ப୳
ப୶

+ y ப୳
ப୷

= sin 2u 

(B) ப୳
ப୶

+ ப୳
ப୷

= sin 2u 

(C) ப୳
ப୶

+ ப୳
ப୷

= 0 

(D) ப୳
ப୶

= 0 

 15. u = tanିଵ ୶
యା୷య

୶ି୷
 dk eku gksxk % 

(A)   x ப୳
ப୶

+ y ப୳
ப୷

= sin 2u 

(B) ப୳
ப୶

+ ப୳
ப୷

= sin 2u 

(C) ப୳
ப୶

+ ப୳
ப୷

= 0 

(D) ப୳
ப୶

= 0 
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16. If u = f(x, y)  be a homogeneous 
function of degree n in x and y 
having continuous partial derivatives 
then :  

(A)   x ப୳
ப୶

+ y ப୳
ப୷

= nu  

(B) x ப୳
ப୶

+ y ப୳
ப୷

= 0 

(C) ப୳
ப୶

= 0 

(D) ப୳
ப୷

= 0 

 16. ;fn x o y esa ?kkr n dk ,d lekaxh 

Qyu u = f(x, y) gks ftlesa lrr 

vkaf’kd vodyt gks rks % 

(A)   x ப୳
ப୶

+ y ப୳
ப୷

= nu  

(B) x ப୳
ப୶

+ y ப୳
ப୷

= 0 

(C) ப୳
ப୶

= 0 

(D) ப୳
ப୷

= 0 

17. The value of  lim
୶→଴

x log sin x is : 

(A)   1 
(B) 0 
(C) -1 
(D) 2 

 17. lim
୶→଴

x log sin x dk eku gksxk % 

(A)   1 
(B) 0 
(C) -1  
(D) 2 

18. Which of the following is not an in 
determinate form : 

(A)   ଴
଴
 

(B) ஶ
ஶ

 

(C) ∞−∞ 
(D) 1° 

 18. fuEufyf[kr esa dkSu lk vfuf’pr :i 

gS % 

(A)   ଴
଴
 

(B) ஶ
ஶ

 

(C) ∞−∞ 
(D) 1° 

19. If u = sinିଵ ቀ୶
୷
ቁ + tanିଵ ቀ୷

୶
ቁ then : 

(A)   x ப୳
ப୶

+ y ப୳
ப୷

= 0 

(B) y ப୳
ப୶

+ x ப୳
ப୷

= 0 

(C) ப୳
ப୶

= 0 

(D) ப୳
ப୷

= 0 

 19. u = sinିଵ ቀ୶
୷
ቁ + tanିଵ ቀ୷

୶
ቁdk eku 

gksxk % 

(A)   x ப୳
ப୶

+ y ப୳
ப୷

= 0 

(B) y ப୳
ப୶

+ x ப୳
ப୷

= 0 

(C) ப୳
ப୶

= 0 

(D) ப୳
ப୷

= 0 
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20. The coefficient of xଷ  in the 

expansion of sinିଵ x is : 

(A)   ଵ
ଶ
 

(B) ଵ
ଷ
 

(C) ଵ
ସ
 

(D) ଵ
଺
 

 20. sinିଵ x esa xଷ dk xq.kkad gksxk % 

(A)   ଵ
ଶ
 

(B) ଵ
ଷ
 

(C) ଵ
ସ
 

(D) ଵ
଺
 

21. Expansion of tan ቀ஠
ସ

+ xቁ  by 

Taylor’s Series is : 

(A)   1 + 2x + ସ୶మ

2
+ ଵ଺୶య

3
+…….. 

(B) 1 + x + ୶య

ଷ
+……. 

(C) x − ୶య

ଷ
+ ୶ఱ

ହ
+…….. 

(D) None of above   

 21. Vsyj dh Js.kh }kjk tan ቀ஠
ସ

+ xቁ dk 

foLrkj gksxk % 

(A)   1 + 2x + ସ୶మ

2
+

ଵ଺୶య

3
+…….. 

(B) 1 + x + ୶య

ଷ
+……. 

(C) x − ୶య

ଷ
+ ୶ఱ

ହ
+…….. 

(D) dksbZ ugha 

22. Expansion of sinିଵ ቀ ଶ୶
ଵା୶మ

ቁ  in 

ascending powers of x is : 

(A)   f(x) = f(0) + x f ᇱ(0) +

୶మ

ଶ
f ᇱᇱ(0) +… 

(B) f(x) = xଶf ᇱ(0) + xଶf ᇱᇱ(0) +… 

(C) f(x) = f(x) + x f(0) +… 

(D) None of above 

 22. x dh vkjksgh ?kkr esa sinିଵ ቀ ଶ୶
ଵା୶మ

ቁdk 

foLrkj gksxk % 

(A)   f(x) = f(0) + x f ᇱ(0) +

୶మ

ଶ
f ᇱᇱ(0) +… 

(B) f(x) = xଶf ᇱ(0) +

xଶf ᇱᇱ(0) +… 

(C) f(x) = f(x) + x f(0) +… 

(D) dksbZ ugha 
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23. The value of D୬ sin(ax + b) is : 

(A)   sin ቀax + b − ୬஠
ଶ
ቁ 

(B) b୬ sin ቀax + b + ୬஠
ଶ
ቁ 

(C) a୬ sin  (ax + b) 

(D) a୬ sin ቀax + b + ୬஠
ଶ
ቁ 

 23. D୬ sin(ax + b)dk eku gS % 

(A)   sin ቀax + b − ୬஠
ଶ
ቁ 

(B) b୬ sin ቀax + b + ୬஠
ଶ
ቁ 

(C) a୬ sin  (ax + b) 

(D) a୬ sin ቀax + b + ୬஠
ଶ
ቁ 

24. n th differential coefficient of 
x୬ିଵ log x is : 

(A)   
1-n

୶
 

(B) ୬ିଵ
୶

 

(C) ୬
୶
 

(D) n  

 24. x୬ିଵ log xds n osa dksfV dk vodyt 
gksxk % 

(A)   
1-n

୶
 

(B) ୬ିଵ
୶

 

(C) ୬
୶
 

(D) n  
25. Leibnitz’s Theorem helps us to find n 

th differential coefficient of the :  

(A)   Sum of two functions 

(B) Product of two functions 

(C) Subtraction of two functions 

(D) None of above 

 25. ysfCuVt izes; dSls Qyu ds n osa 

dksfV ds vodyt esa lgk;rk djrk gS 

% 

(A) nks Qyu dk ;ksx 

(B) nks Qyu dk xq.kk 

(C) nks Qyu dk ?kVkuk 

(D) dksbZ ugha 

26. If pଶ = aଶ cosଶ θ + bଶ sinଶ θ then: 

(A)   p + ୢమ୮
ୢ஘మ

= ୟమୠమ

୮య
 

(B) p + ୢమ୮
ୢ஘మ

= ୟୠ
୮య

 

(C) p − ୢ୮
ୢ஘

= ୟୠ
୮య

 

(D) None of above 

 26. ;fn pଶ = aଶ cosଶ θ +

bଶ sinଶ θrc % 

(A)   p + ୢమ୮
ୢ஘మ

= ୟమୠమ

୮య
 

(B) p + ୢమ୮
ୢ஘మ

= ୟୠ
୮య

 

(C) p − ୢ୮
ୢ஘

= ୟୠ
୮య

 

(D) dksbZ ugha 
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27. If a function f(x)  is continuous in 

[a, b]  and differentiable in open 

internal (a, b) then there exist at least 

one value c in (a, b)  such that 

୤(ୠ)ି୤(ୟ)
(ୠିୟ)

= f′(c) is called : 

(A)   Lagrange’s mean value 

Theorem  

(B) Rolle’s Theorem 

(C) Cauchy’s mean value Theorem 

(D) None of above 

 27. ,d Qyu f(x)  tks fd vUrjky 

[a, b] esa lrr gks vkSj [kqys vUrjky 

(a, b)esa vodfyr gks rks de ls de 

,d eku (a, b) esa ,slk gksxk fd 

୤(ୠ)ି୤(ୟ)
(ୠିୟ)

= f′(c) rks ;g izes; dgk 

tkrk gS % 

(A) ySXjsatsl ek/;eku izes; 

(B) jksysl izes; 

(C) dk’kh ek/;eku izes; 

(D) dksbZ ugha 

28. If a function f(x) is such that – 

(I) f(x) is continuous in [a, b] 

(II) f′(x) exists  ∀ x ∈ [a, b] 

(III) f(a) = f(b) 

Then there exists at least one value c 

such that a < ܿ < ܾ such that f ᇱ(c) =

0 this theorem if known as : 

(A)   Rolle’s Theorem 

(B) Leibnitz’s Theorem 

(C) Lagrange’s Theorem 

(D) Taylor’s Theorem 

 28. ,d ,slk Qyu f(x)tks fd & 

(I) vUrjky [a, b] esa lrr gks 

(II) f′(x)ekStwn gks ∀ x ∈ [a, b] 

(III) f(a) = f(b) 

rks de ls de ,d eku c, a < ܿ <

ܾ  ,slk gksxk fd f ᇱ(c) = 0 rks ;g 

izes; dgk tkrk gS % 

(A) jksysl izes; 

(B) yscfuV~t izes; 

(C) ySXjsatsl izes; 

(D) Vsyj izes; 
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29. The function f given by f(x) = x +

anିଵ(1 x⁄ )  for x ≠ 0  and f(0) = 0  is 

continuous but not differentiable at : 

(A)   x = 0 

(B) x = −1 

(C) x = 1 

(D) x = π 

 29. Qyu f(x) = x + anିଵ(1 x⁄ ) ] x ≠

0 ds fy, vkSj f(0) = 0lrr gS ij 

vodfyr ugha gS bl fcUnq ij % 

(A)   x = 0 

(B) x = −1 

(C) x = 1 

(D) x = π 

30. The function f(x) = |x| is continuous 

but not differentiable at : 

(A)   x = 0 

(B) x = 1 

(C) x = −1 

(D) x = 2 

 30. Qyu f(x) = |x| lrr gS ysfdu 

vodfyr ugha gS bu fcUnq ij % 

(A)   x = 0 

(B) x = 1 

(C) x = −1 

(D) x = 2 

31. The function – 

f(x) = ୱ୧୬మ ୟ୶
୶మ

 for x ≠ 0, 

f(x) = 1 for x = 0 is : 

(A)   Continuous 

(B) Discontinuous 

(C) Oscillatory 

(D) None of above 

 at x = 0 

 31. Qyu f(x) = ୱ୧୬మ ୟ୶
୶మ

  for  x ≠ 0 , 

f(x) = 1 for x = 0 gksxk % 

(A) lkarR; 

(B) vlrr 

(C) nksfyr 

(D) dksbZ ugha 

 x = 0 fcUnq ij 
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32. lim
୶→଴

ቀx sin ଵ
୶
ቁ is : 

(A)   1 

(B) 0 

(C) -1 

(D) 2 

 32. lim
୶→଴

ቀx sin ଵ
୶
ቁdk eku gksxk % 

(A)   1 

(B) 0 

(C) -1  

(D) 2 

33. A function f is said to have a 

discontinuity of first kind at a if : 

(A)   f(a + 0) and f(a − 0) both exist 

but are not equal 

(B) f(a + 0) exist but f(a − 0) does 

not  

(C) f(a − 0) exist but f(a + 0) does 

not 

(D) f(a + 0) and f(a − 0) both exist 

and are equal 

 33. ,d Qyu f izFke izdkj dh vlrrk 

j[krk gS a fcUnq ij ;fn % 

(A) f(a + 0) vkSj f(a − 0) nksuksa 

ekStwn gS ysfdu cjkcj ugha gSaA 

(B) f(a + 0)ekStwn gS ysfdu f(a −

0)ugha 

(C) f(a − 0)ekStwn gS ysfdu f(a +

0) ugha 

(D) f(a + 0) vkSj f(a − 0) nksuksa 

ekStwn gS vkSj cjkcj gSaA 

34. lim
୶→଴

ୱ୧୬୶
୶

 is equal to : 

(A)   1 

(B) 0 

(C) - 1 

(D) 2 

 34. lim
୶→଴

ୱ୧୬୶
୶

 dk eku gS % 

(A)   1 

(B) 0 

(C) - 1  

(D) 2 
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35. The series –  

1 − ଵ
ଶ

+ ଵ
ଷ
− ଵ

ସ
+……. is : 

(A)   Divergent 

(B) Oscillatory 

(C) Convergent 

(D) Absolutely convergent 

 35. Jà[kyk & 

1 − ଵ
ଶ

+ ଵ
ଷ
− ଵ

ସ
+……. gS % 

(A) vilkfjr 

(B) nksfyr 

(C) vfHklkfjr 

(D) iw.kZ vfHklkfjr 

36. A series Σ u୬ is said to be absolutely 

convergent of the series Σ |u୬| is : 

(A)   Convergent 

(B) Divergent 

(C) Unbounded 

(D) None of above 

 36. dksbZ Jà[kyk Σ u୬ iw.kZ vfHklkfjr gS 

;fn Jà[kyk Σ |u୬|gS % 

(A) vfHklkfjr 

(B) vilkfjr 

(C) vifjc) 

(D) dksbZ ugha 

37. The series- 1 + ଵ
ଶ(୪୭୥ ଶ)౦

+ ଵ
ଷ(୪୭୥ ଷ)౦

+…. 

+ 1

n(log n)p +…… diverges if : 

(A)   p > 1 

(B) p ≤ 1 

(C) p = 0 

(D) None of above 

 37. Jà[kyk& 1 + ଵ
ଶ(୪୭୥ ଶ)౦

+

ଵ
ଷ(୪୭୥ ଷ)౦

+….. 

+ ଵ
୬(୪୭୥ ୬)౦

+…… vilkfjr gS ;fn % 

(A)   p > 1 

(B) p ≤ 1 

(C) p = 0 

(D) dksbZ ugha 
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38. The series Σ(−1)୬ିଵ ଵ
୬౦

 is convergent 

if : 
(A)   p > 0 
(B) p < 0 
(C) p > 1 
(D) p = 1 

 38. Jà[kyk Σ(−1)୬ିଵ ଵ
୬౦

vfHklkfjr gS 

;fn% 

(A)   p > 0 
(B) p < 0 
(C) p > 1 
(D) p = 1 

39. If Σ a୬  be a series of positive terms 

such that lim
୬→ஶ

ୟ౤
ୟ౤శభ

= l then- 

(I) Σ a୬ is convergent if l > 1 

(II) Σ a୬  is divergent if l < 1  and 

test fails when l = 1  then this 

theorem is known as : 

(A)   Comparision test 

(B) D’Alembert test 

(C) Cauchy’s root test 

(D) Raabe’s test 

 39. ;fn /kukRed la[;kvksa dh J̀a[kyk bl 

rjg gks fd lim
୬→ஶ

ୟ౤
ୟ౤శభ

= l vkSj & 

(I) Jà[kyk vfHklkfjr gS ;fn l > 1 

(II) Jà[kyk vilkfjr gS ;fn l < 1 

vkSj  l = 1ij iz;ksx foQy gS rks ;g 

izes; gksxk %  

(A) rqyukRed iz;ksx 

(B) Mh vyEcVZ iz;ksx 

(C) dk’kh :V iz;ksx 

(D) jkcht iz;ksx 

40. The infinite series Σ ଵ
୬౦

 ie ଵ
ଵ౦

+

ଵ
ଶ౦

+……..+ ଵ
୬౦

+…. is convergent if 

: 

(A)   p > 1 

(B) p < 1 

(C) p = 1 

(D) p = 0 

 40. vuUr Jà[kyk Σ ଵ
୬౦

 ie ଵ
ଵ౦

+

ଵ
ଶ౦

+ …….. + ଵ
୬౦

+ …. vfHklkfjr 

gksxk ;fn % 

(A)   p > 1 

(B) p < 1 

(C) p = 1 

(D) p = 0 
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41. lim ଵ
୬

(1 + 21
2⁄ + 31

3⁄ + _  _ _  + n1 n⁄ )is : 

(A)   0 

(B) 1 

(C) 2 

(D) - 1 

 41. lim ଵ
୬

(1 + 21
2⁄ + 31

3⁄ + _  _ _  +

n1 n⁄ )dk eku gksxk % 

(A) 0 

(B) 1 

(C) 2 

(D) - 1 

42. Every bounded sequence has at least 

one : 

(A)   Limit point 

(B) Interior point 

(C) Exterior point 

(D) None of above 

 42. izR;sd ifjc) vuqØe de ls de ,d 

j[krk gS % 

(A) lhek fcUnq 

(B) vkUrfjd fcUnq 

(C) cká fcUnq 

(D) dksbZ ugha 

43. If < x୬ >  is a convergent sequence 

such that lim
୬→ஶ

x୬ = l, then the 

sequence defined as s୬ =

(୶భା୶మା _ _ _ ୶౤)
୬

is also convergent to l. 

This theorem is known as : 

(A)   Cauchy First theorem on limit 

(B) Bernouli’s theorem  

(C) Squeeze theorem 

(D) Taylors theorem 

 43. ;fn dksbZ vuqØe vfHklkfjr gS bl 

rjg lim
୬→ஶ

x୬ = lrc vuqØe tks bl 

rjg ifjHkkf”kr gks jgk gS s୬ =

(୶భା୶మା _ _ _ ୶౤)
୬

Hkh l  ij gh vfHklkfjr 

gksxkA bl izes; dks dgrs gSa % 

(A) dk’kh izFke izes; lhek 

(B) cukZsyh izes; 

(C) fLdot izes; 

(D) Vsyj izes; 
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44. 
Lim
୬→ஶ

൬୬
౤

n
൰
ଵ/୬

 is equal to : 

(A)   e 

(B) 1/e 

(C) Zero 

(D) ∞ 

 44. 
Lim
୬→ஶ

൬୬
౤

n
൰
ଵ/୬

dk eku gksxk % 

(A)   e 

(B) 1/e 

(C) thjks 

(D) vuUr 

45. Sequence < ଵ
୬

> has the limit as n →

∞: 

(A)   Zero 

(B) 1 

(C) 2 

(D) ∞ 

 45. vuqØe < ଵ
୬

> dh lhek n → ∞ ij 

gksxh % 

(A) thjks 

(B) 1 

(C) 2 

(D) ∞ 

46. If for a sequence < x୬ > ∀ ∈ > 0 

there exist n ≥ m  such that |x୬ −

l| < ∈ then the sequence is said to be: 

(A)   Convergent 

(B) Divergent 

(C) Monotone 

(D) Continuous 

 46. ;fn fdlh vuqØe < x୬ >  esa izR;sd 

∈ > 0  ds fy, n ≥ m  bl izdkj 

gksrk gS fd |x୬ − l| < ∈  rc ml 

vuqØe dks dgrs gS % 

(A) vfHklkfjr 

(B) vilkfjr 

(C) ,dy; 

(D) lrr 
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47. A sequence is said to be bounded if it 
is bounded above as well as : 
(A)   Bounded below 
(B) Convergent 
(C) Divergent 
(D) None of above 

 47. ,d vuqØe dks ifjc) dgk tkrk gS 

;fn og Åij ls ifjc) gksus ds 

lkFk&lkFk % 

(A) uhps ls ifjc) gks 

(B) vfHklkfjr gks 

(C) vilkfjr gks 

(D) dksbZ Hkh ugha gks 

48. A sequence in a set R is a rule which 
assigns to each : 
(A)   Natural number 
(B) Rational number 
(C) Irrational number 
(D) Complex number 
A unique element of the set R. 

 48. fdlh leqP; R esa vuqØe ,d ,slk 

fu;e gS tks izR;sd % 

(A) izkÑfrd la[;k,a 

(B) ifjes; la[;k,a 

(C) vifjes; la[;k,a 

(D) tfVy la[;k,a 

ds fy, leqP; R esa ,d fo’ks”k la[;k 

fu/kkZfjr djrk gSA 

49. The residence of Aryabhatta-I was : 
(A)   Patna 
(B) Delhi 
(C) Mumbai 
(D) Mysore 

 49. vk;ZHkÍ izFke dk fuokl Fkk % 

(A) iVuk  

(B) fnYyh 

(C) eqEcbZ 

(D) eSlwj 

50. The first development in the history 

of Mathematics was in the field : 

(A) Arithmetic 

(B) Algebra 

(C) Geometry 

(D) Trigonometry 

 50. xf.kr ds bfrgkl esa loZizFke fdl {ks= 

esa fodkl gqvk Fkk % 

(A) vdaxf.kr 

(B) chtxf.kr 

(C) T;kfefr 

(D) f=dks.kfefr 
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51. The value of ∬ n 
ୗ ds, for any closed 

surface S is 
(A)   1 
(B) 0 
(C) 2 
(D) 3 

 51. lekdyu ∬ n 
ୗ ds fdlh cUn lrg S 

dk gksxk % 
(A)   1 
(B) 0 
(C) 2  
(D) 3 

52. If C is the curve xଶ + yଶ = 1, z = yଶ 
then by Stoke’s theorem ∮ yz dx + 

ୡ

zx dy + xy dz is :  
(A)   3 
(B) 0 
(C) 4 
(D) 5 

 52. ;fn C dksbZ oØ xଶ + yଶ = 1, z =

yଶ gS rks LVksDl izes; ds vuqlkj 

∮ yz dx + zx dy + xy dz 
ୡ  gksxk % 

(A)   3 
(B) 0 
(C) 4  
(D) 5 

53. The work done in moving a particle 
in a force field F = 3xଶ ı̂ +
(2xz − y)ȷ̂ + 3k෠  along the line 
joining (0, 0, 0) to (2, 1, 3) is : 
(A)   12 
(B) 20 
(C) 0 
(D) 16 

 53. ,d fcUnq dks cy F = 3xଶı̂ +

(2xz − y)ȷ̂ + 3k෠ ds }kjk ,d ykbZu 

tks (0, 0, 0)dks (2, 1, 3)ls tksM+rh gS 

dh rjQ djus esa fd;k gqvk dk;Z gksxk 

% 
(A)   12 
(B) 20 
(C) 0 
(D) 16 

54. The value of ∫ (x dy − y dx) around 

the circle xଶ + yଶ = 1 is : 

(A)   4π 

(B) 0 

(C) 2π  

(D) 1 

 54. lekdyu ∫ (x dy − y dx) dk eku 

òÙk xଶ + yଶ = 1 ds pkjkas rjQ D;k 

gksxk % 

(A)   4π 

(B) 0 

(C) 2π  

(D) 1 
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55. Curl of the gradient of a scalar point 

function ϕ is : 

(A)   1 

(B) 0 

(C) -1 

(D) 2 

 55. lfn’k fcUnq Qyu ϕdk izo.krk dyZ 

gksxk % 

(A)   1 

(B) 0 

(C) -1  

(D) 2 

56. If f = xଶyଶ + yଶzଶ + zଶxଶ  then 

div grad f is : 

(A)   xଶ + yଶ + zଶ 

(B) 2(xଶ + yଶ) 

(C) 4(xଶ + yଶ + zଶ) 

(D) ଵ
ଶ

(xଶ + yଶ + zଶ) 

 56. ;fn f = xଶyଶ + yଶzଶ + zଶxଶ  rks 

div grad f dk eku gksxk % 

(A)   xଶ + yଶ + zଶ 

(B) 2(xଶ + yଶ) 

(C) 4(xଶ + yଶ + zଶ) 

(D) ଵ
ଶ

(xଶ + yଶ + zଶ) 

57. If r⃗ = xı̂ + yȷ̂ + zk෠ and rଶ = xଶ + yଶ  

+zଶ then the value of grad e୰మ is: 

(A)   r⃗e୰మ 

(B) 2 r⃗e୰మ 

(C) ୰ሬ⃗
ୣ୰

 

(D) r⃗e୰ 

 57. ;fn r⃗ = xı̂ + yȷ̂ + zk෠ vkSj rଶ =

xଶ + yଶ + zଶ rks grad e୰మ dk eku 

gksxk % 

(A)   r⃗e୰మ 

(B) 2 r⃗e୰మ 

(C) ୰ሬ⃗
ୣ୰

 

(D) r⃗e୰ 
58. If aሬ⃗ = ti − 3j + 2tk, bሬ⃗ = i − 2j + 2k 

and c⃗ = 3i + tj − k  then the value of 

∫  
ଶ

ଵ
aሬ⃗  . ൫bሬ⃗ × c⃗൯ dt is : 

(A)   1 
(B) 0 
(C) -1 
(D) 2 

 58. ;fn aሬ⃗ = ti − 3j + 2tk, bሬ⃗ = i − 2j +

2k  vkSj c⃗ = 3i + tj − k  gS rks 

lekdyu ∫  
ଶ

ଵ
aሬ⃗  . ൫bሬ⃗ × c⃗൯ dt  dk eku 

gksxk % 
(A)   1 
(B) 0 
(C) -1  
(D) 2 
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59. The operator ∇ଶ= பమ

ப୶మ
+ பమ

ப୷మ
+ பమ

ப୸మ
 is 

known as :  

(A)   Laplacian operator 

(B) Arithmetic operator 

(C) Logical operator 

(D) None of above  

 59. vkijsVj ∇ଶ= பమ

ப୶మ
+ பమ

ப୷మ
+ பమ

ப୸మ
dks 

dgrs gaS % 

(A) ykIyklh; vkijsVj 

(B) vadxf.krh; vkijsVj 

(C) rkfdZd vkijsVj 

(D) dksbZ ugha 

60. The value of ∇ଶ(r୬),  where rଶ =

xଶ + yଶ + zଶ is : 

(A)   n(n + 1)r୬ିଶ 

(B) n r୬ିଶ 

(C) (n + 1)r୬ିଵ 

(D) nr 

 60. ∇ଶ(r୬) tgk¡ rଶ = xଶ + yଶ + zଶ dk 

eku crkb;s % 

(A)   n(n + 1)r୬ିଶ 

(B) n r୬ିଶ 

(C) (n + 1)r୬ିଵ 

(D) nr 

61. The necessary and sufficient 

condition for the vector a(t) to have 

constant direction is : 

(A)   a × ୢୟ
ୢ୲

= 0 

(B) a . ୢୟ
ୢ୲

= 0 

(C) a × ୢୟ
ୢ୲

= 1 

(D) a . ୢୟ
ୢ୲

= −1 

 61. osDVj a(t) ds fLFkj fn’kk ds fy, 

vko’;d vkSj i;kZIr ‘krZ gS % 

(A)   a × ୢୟ
ୢ୲

= 0 

(B) a . ୢୟ
ୢ୲

= 0 

(C) a × ୢୟ
ୢ୲

= 1 

(D) a . ୢୟ
ୢ୲

= −1 
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62. The necessary and sufficient 
condition for the vector a(t) to have 
constant magnitude is : 

(A)   a . ୢୟ
ୢ୲

= 0 

(B) a × ୢୟ
ୢ୲

= 0 

(C) a . ୢୟ
ୢ୲

= 1 

(D) a . ୢୟ
ୢ୲

= −1 

 62. fdlh osDVj a(t)ds fLFkj vkdkj j[kus 

dh vko’;d vkSj i;kZIr ‘krZ gS % 

(A)   a . ୢୟ
ୢ୲

= 0 

(B) a × ୢୟ
ୢ୲

= 0 

(C) a . ୢୟ
ୢ୲

= 1 

(D) a . ୢୟ
ୢ୲

= −1 

63. The volume generated by the 

revolution of the ellipse ୶
మ

ୟమ
+ ୷మ

ୠమ
= 1 

about the line x = 2a is : 
(A)   4πଶaଶb 
(B) 2πଶa 
(C) 4πaଶ 
(D) 4πଶbଶ 

 63. ,fyIl ୶మ

ୟమ
+ ୷మ

ୠమ
= 1 dk vk;ru tks 

js[kk x = 2a ds pkjksa rjQ ?kwerh gS] 

gksxk % 

(A)   4πଶaଶb 
(B) 2πଶa 
(C) 4πaଶ 
(D) 4πଶbଶ 

64. Volume of sphere of radius a is : 

(A)   ସ
ଷ

 πaଷ 

(B) ସ
ଷ

 πaଶ 

(C) 2 πaଶ 
(D) 3 πa 

 64. a f=T;k ds xksys dk vk;ru gksxk % 

(A)   ସ
ଷ

 πaଷ 

(B) ସ
ଷ

 πaଶ 

(C) 2 πaଶ 
(D) 3 πa 

65. The Perimeter of the cardiod r =

a(1 − cos θ) is :   

(A)   2a 

(B) 8a 

(C) ୟ
ଶ
 

(D) 5a 

 65. dkMZ;kM r = a(1 − cos θ) dk 

ifjeki gksxk % 

(A)   2a 

(B) 8a 

(C) ୟ
ଶ
 

(D) 5a 
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66. The Perimeter of the loop of the 

curve 3ayଶ = xଶ(a − x) is : 

(A)   ସୟ
√ଷ

 

(B) ସୟ
ଷ

 

(C) 2a 

(D) 4a 

 66. dqaMyh 3ayଶ = xଶ(a − x)dk ifjeki 

gksxk % 

(A)   ସୟ
√ଷ

 

(B) ସୟ
ଷ

 

(C) 2a 

(D) 4a 

67. Length of asteroid x2
3ൗ + y2

3ൗ = a2
3ൗ  

is :  

(A)   6a 

(B) 4a 

(C) a 

(D) ଷ
ଶ

a 

 67. ,LVªk;M x2
3ൗ + y2

3ൗ = a2
3ൗ dh 

yEckbZ gksxh % 

(A)   6a 

(B) 4a 

(C) a 

(D) ଷ
ଶ

a 

68. Drichlet’s theorem 

ඵ…නxଵ
୪భିଵ x2

l2−1 . ..  xn
ln−1 dx1 dx2 . . .  dxn = 

 
)l( 1 )l( 2 ………

)l( n

l......ll1 n21 
 hold the condition : 

(A)   xଵ + xଶ+ .  .  . +x୬ ≤ 1 

(B) xଵ + xଶ+ .  .  . +x୬ ≥ 1 

(C) xଵ + xଶ+ .  .  . +x୬ = 1 

(D) None of above 

 68. MhpysV izes; &  

ඵ…නxଵ
୪భିଵ xଶ

୪మିଵ … x୬
୪౤ିଵ dxଵ dxଶ . . . dx୬ 

=
)l( 1 )l( 2 ………

)l( n

l......ll1 n21 
 esa ;g ‘krZ gS % 

(A)   xଵ + xଶ+ .  .  . +x୬ ≤ 1 

(B) xଵ + xଶ+ .  .  . +x୬ ≥ 1 

(C) xଵ + xଶ+ .  .  . +x୬ = 1 

(D) dksbZ ughaa 
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69. The value of the integral 

∫ ∫ ∫ cos2 x cos2 y cos2 z
π

2⁄
଴

π
2⁄

଴

π
2⁄

଴  dx dy dz  

  is :  

(A)   ஠
మ

ଵ଺
 

(B) ஠
଺ସ

 

(C) ஠య

଼
 

(D) ஠య

଺ସ
 

 69. lekdyu ∫ ∫ ∫  cos2 x  cos2 y
π

2⁄
଴

π
2⁄

଴

π
2⁄

଴   

cosଶ z  dx dy dz dk eku gksxk % 

(A)   ஠
మ

ଵ଺
 

(B) ஠
଺ସ

 

(C) ஠య

଼
 

(D) ஠య

଺ସ
 

70. Integral ∫ ∫ ∫ xyz dx dy dzଵି୶ି୷
଴

ଵି୶
଴

ଵ
଴  is 

equal to : 

(A)   ଵ
଻ଶ଴

 

(B) 50 

(C) 100 

(D) ଵ
଺ହ଴

 

 70. lekdyu ∫ ∫ ∫ xyz dx dy dzଵି୶ି୷
଴

ଵି୶
଴

ଵ
଴  

dk eku gksxk % 

(A)   ଵ
଻ଶ଴

 

(B) 50 

(C) 100 

(D) ଵ
଺ହ଴

 

71. 
The value of ∫  

ଶ

ଵ
∫  
୶

଴

ୢ୶ ୢ୷
୶మା୷మ

 is :  

(A)   ஠
ସ

log 2 

(B) ஠
ସ

log ଵ
ଶ
 

(C) π log 2 

(D) 2π log 2 

 71. 
nksgjs lekdyu ∫  

ଶ

ଵ
∫  
୶

଴

ୢ୶ ୢ୷
୶మା୷మ

dk eku 

gksxk % 

(A)   ஠
ସ

log 2 

(B) ஠
ସ

log ଵ
ଶ
 

(C) π log 2 

(D) 2π log 2 
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72. Area of the region bounded by the 

circle xଶ + yଶ = aଶ is : 

(A)   πaଶ 

(B) 2πaଶ 

(C) ଷ
ଶ

 πaଶ 

(D) ஠ୟమ

ଶ
 

 72. ml {ks= dk {ks=Qy tks òÙk xଶ +

yଶ = aଶ }kjk ifjc) gks % 

(A)   πaଶ 

(B) 2πaଶ 

(C) ଷ
ଶ

 πaଶ 

(D) ஠ୟమ

ଶ
 

73. The definite integral ∫  
ஶ

଴
eି୶ x୬ିଵ dx, 

for x > 0 is called : 

(A)   Gamma function 

(B) Beta function 

(C) Beta and Gamma function 

(D) None of above 

 73. fuf’pr lekdyu ∫  
ஶ

଴
eି୶ x୬ିଵ dx, 

tgk¡ x > 0 dgk tkrk gS % 

(A) xkek Qyu 

(B) chVk Qyu 

(C) chVk vkSj xkek Qyu 

(D) dksbZ ugha 

74. The value of 
9
1

9
2 …….

9
8  is : 

(A)   4πଷ 

(B) ଵ଺
ଷ
πସ 

(C) 16πସ 

(D) 3πସ 

 74. 
9
1

9
2 …….

9
8  dk eku gksxk % 

(A)   4πଷ 

(B) ଵ଺
ଷ
πସ 

(C) 16πସ 

(D) 3πସ 

75. The value of 
2
1  is : 

(A)   √π 

(B) π 

(C) π
2ൗ  

(D) ඥπ 2⁄  

 75. 
2
1  dk eku gksxk % 

(A)   √π 

(B) π 

(C) π
2ൗ  

(D) ඥπ 2⁄  
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76. Which of the relation is true between 

Beta and Gamma function, where 

m > 0, n > 0 : 

(A)   Β(m, n) =
m n

nm 
 

(B) Β(m, n) =
m

nm 
 

(C) Β(m, n) = n

nm 
 

(D) None of above 

 76. chVk xkek Qyu esa dkSu lk lEcU/k 

lgh gS] tgk¡ m > 0, n > 0% 

(A)   Β(m, n) =
m n

nm 
 

(B) Β(m, n) =
m

nm 
 

(C) Β(m, n) = n

nm 
 

(D) dksbZ ugha 

77. Which condition is true for Beta 

function Β(m, n) : 

(A)   Β(m, n) = Β(n, m) 

(B) Β(m, n) ≠ Β(n, m) 

(C) Β(m, n) = 0 

(D) None of above 

 77. chVk Qyu Β(m, n)ds fy, dkSu lh 

‘krZ lgh gS % 

(A)   Β(m, n) = Β(n, m) 

(B) Β(m, n) ≠ Β(n, m) 

(C) Β(m, n) = 0 

(D) dksbZ ugha 

78. 
The integral ∫  

ஶ

ୟ

ୱ୧୬మ ୶
୶మ

 dx where a > 0 

is :  

(A)   Convergent 

(B) Divergent 

(C) Uniformly convergent 

(D) None of above 

 78. 
lekdyu ∫  

ஶ

ୟ

ୱ୧୬మ ୶
୶మ

 dx tgk¡ a > 0 gS] 

gksxk % 

(A) vfHklkfjr 

(B) vilkfjr 

(C) ,d leku vfHklkfjr 

(D) dksbZ ugha 
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79. 
The Integral ∫  

ஶ

ୟ

ୢ୶
୶౤

 where a > 0  is 

convergent when : 

(A)   n = 1 

(B) n < 1 

(C) n = 2 

(D) n > 1 

 79. 
lekdyu ∫  

ஶ

ୟ

ୢ୶
୶౤

tgk¡ a > 0 gS 

vfHklkfjr gksxk ;fn % 

(A)   n = 1 

(B) n < 1 

(C) n = 2 

(D) n > 1 

80. The value of ∫  
ஶ

଴

ୣష౗౮ ୱ୧୬ୠ୶
୶

 dx is : 

(A)   tanିଵ ୠ
ୟ
 

(B) tanିଵ (b + a) 

(C) cosିଵ ୠ
ୟ
 

(D) sinିଵ ୠ
ୟ
 

 80. lekdyu ∫  
ஶ

଴

ୣష౗౮ ୱ୧୬ୠ୶
୶

 dx  dk eku 

gksxk % 

(A)   tanିଵ ୠ
ୟ
 

(B) tanିଵ (b + a) 

(C) cosିଵ ୠ
ୟ
 

(D) sinିଵ ୠ
ୟ
 

81. Let f ∈ R[a, b]  and let ϕ  be a 

differentiable function on [a, b] such 

that ϕᇱ(x) = f(x)  for all x ∈ [a, b] 

then :  

(A)   ∫  
ୠ

ୟ
f(x) dx = ϕ(b) − ϕ(a) 

(B) ∫  
ୠ

ୟ
f(x) dx = ϕ(b) + ϕ(a) 

(C) ∫  
ୠ

ୟ
f(x) dx = ம(ୠ)

ம(ୟ)
 

(D) None of above  

 81. f ∈ R[a, b]vkSj ;fn ϕ,d vodfyr 

Qyu gS vUrjky [a, b] ij bl rjg 

fd ϕᇱ(x) = f(x) lHkh x ∈ [a, b] ds 

fy, rks % 

(A)   ∫  
ୠ

ୟ
f(x) dx = ϕ(b) − ϕ(a) 

(B) ∫  
ୠ

ୟ
f(x) dx = ϕ(b) + ϕ(a) 

(C) ∫  
ୠ

ୟ
f(x) dx = ம(ୠ)

ம(ୟ)
 

(D) dksbZ ugha 
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82. If f ∈ R[a, b] then : 

(A)   ቤ∫  
ୠ

ୟ
f(x) dxቤ ≤ ∫  

ୠ

ୟ
|f(x)| dx 

(B) ∫  
ୠ

ୟ
|f(x)| dx ≤ ቤ∫  

ୠ

ୟ
f(x) dxቤ 

(C) ቤ∫  
ୠ

ୟ
f(x) dxቤ = ∫  

ୠ

ୟ
|f(x)| dx 

(D) None of these 

 82. ;fn f ∈ R[a, b]rks %  

(A)   ቤ∫  
ୠ

ୟ
f(x) dxቤ ≤ ∫  

ୠ

ୟ
|f(x)| dx 

(B) ∫  
ୠ

ୟ
|f(x)| dx ≤ ቤ∫  

ୠ

ୟ
f(x) dxቤ 

(C) ቤ∫  
ୠ

ୟ
f(x) dxቤ = ∫  

ୠ

ୟ
|f(x)| dx 

(D) dksbZ ugha 

83. Let f be a bounded function defined 

on [0, 1] by - 

f(x) = ൛ ଵ ୵୦ୣ୬ ୶ ୧ୱ ୰ୟ୲୧୭୬ୟ୪
ିଵ ୵୦ୣ୬ ୶ ୧ୱ ୧୰୰ୟ୲୧୭୬ୟ୪ then : 

(A)   f ∈ R[0, 1] 

(B) f ∉ R[0, 1] 

(C) (A) and (B) both are true 

(D) None of above 

 83. ,d ifjc) Qyu ftks vUrjky 

[0, 1]ij ifjHkkf”kr gS bl rjg ls& 

f(x) = ቊ
ଵ gS;ifjestc x 

−ଵ gS;vifjestc x 
rc % 

(A)   f ∈ R[0, 1] 

(B) f ∉ R[0, 1] 

(C) (A) vkSj (B) nksuks lR; gS 

(D) dksbZ ugha 

84. The upper Riemann Integral of f over 

[a, b] is the infimum of : 

(A)   Upper sum ie U(P, f) where Pis 

partition 

(B) Lower sum ie L(P, f) where Pis 

partition 

(C) Lower bound of [a, b] 

(D) Upper bound of [a, b] 

 84. ,d ifjc) Qyu dk mPprj jheku 

lekdyu vUrjky [a, b] esa egÙke 

fupyh lhek gksrk gS % 

(A) Åijh ;ksx U(P, f) dk tgk¡ 

P[a, b] dk foHkktu gSA 

(B) uhpyh ;ksx L(P, f) dk tgk¡ 

P[a, b] dk foHkktu gSA 

(C) fufEu”B vUrjky [a, b] dk 

(D) mfPp”B vUrjky [a, b] dk 
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85. 
The limit of ൬

n
୬౤
൰

1 n⁄

 when n → ∞ is: 

(A)   ଵ
ୣ
 

(B) e 

(C) ଵ
ୣమ

 

(D) eଶ 

 85. 
൬

n
୬౤
൰

1 n⁄

tc n → ∞ dh lhek gksxh % 

(A)   ଵ
ୣ
 

(B) e 

(C) ଵ
ୣమ

 

(D) eଶ 

86. From the definition of a Definite 

Integral as the limit of a sum the 

value of ∫  
ୠ

ୟ
e୶ dx is :  

(A)   eୠ − eୟ 

(B) eୠାୟ 

(C) eୠିୟ 

(D) eୠାa/2 

 86. fuf’pr lekdyu ,oa ;ksx dh lhek ds 

vuqlkj ∫  
ୠ

ୟ
e୶ dx dk eku gksxk % 

(A)   eୠ − eୟ 

(B) eୠାୟ 

(C) eୠିୟ 

(D) eୠାa/2 

87. 
∫  
஠

଴

୶ ୢ୶
ଵାୱ୧୬୶

 has the value : 

(A)   π 

(B) ஠
ଶ
 

(C) 2π 
(D) 3π 

 87. lekdyu ∫  
஠

଴

୶ ୢ୶
ଵାୱ୧୬୶

 dk eku gksxk % 

(A)   π 

(B) ஠
ଶ
 

(C) 2π 
(D) 3π 

88. 
The value of ∫  

஠

଴
θ sinଷ θ  dθ is : 

(A)   ଶ஠
ଷ

 

(B) π 

(C) ஠
ଶ
 

(D) 2π 

 88. lekdyu ∫  
஠

଴
θ sinଷ θ  dθ  dk eku 

gksxk % 

(A)   ଶ஠
ଷ

 

(B) π 

(C) ஠
ଶ
 

(D) 2π 
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89. Which of the following condition 
hold for Definite Integral : 

(A)   ∫  
ୠ

ୟ
f(x) dx = ∫  

ୠ

ୟ
f(t) dt 

(B) ∫  
ୠ

ୟ
f(x) dx ≠ ∫  

ୠ

ୟ
f(t) dt 

(C) ∫  
ୠ

ୟ
f(x) dx = ∫  

ୟ

଴
f(t) dt 

(D) None of above 

 89. fuf’pr lekdyu esa dkSu lk ‘krZ ykxw 

gksrk gS % 

(A)   ∫  
ୠ

ୟ
f(x) dx = ∫  

ୠ

ୟ
f(t) dt 

(B) ∫  
ୠ

ୟ
f(x) dx ≠ ∫  

ୠ

ୟ
f(t) dt 

(C) ∫  
ୠ

ୟ
f(x) dx = ∫  

ୟ

଴
f(t) dt 

(D) dksbZ ugha 

90. 
Value of ∫  

ଵ

଴

ଵ
√ଵି୶మ

 dx is : 

(A)   π 2ൗ  

(B) π 

(C) 3π
2ൗ  

(D) 2π 

 90. 
lekdyu ∫  

ଵ

଴

ଵ
√ଵି୶మ

 dx dk eku gksxk% 

(A)   π 2ൗ  

(B) π 

(C) 3π
2ൗ  

(D) 2π 

91. If the tangent at any double point of 
curve are imaginary then the point is 
called : 
(A)   A node 
(B) A conjugate point 
(C) An ordinary point 
(D) A cusp 

 91. ;fn Li’kZ js[kk fdlh oØ ds nksgjs 

fcUnq ij dkYifud gks rks fcUnq dks 

dgrs gS % 

(A) uksM 

(B) dkUtqxsV fcUnq 

(C) lk/kkj.k fcUnq 

(D) dLi 
92. A point is called point of inflexion if: 

(A)   ୢ୷
ୢ୶

= 0 

(B) ୢ୷
ୢ୶

= ∞ 

(C) ୢమ୷
ୢ୶మ

= 0 

(D) ୢమ୷
ୢ୶మ

= ∞ 

 92. ,d fcUnq foHkfDr fcUnq gksxk ;fn % 

(A)   ୢ୷
ୢ୶

= 0 

(B) ୢ୷
ୢ୶

= ∞ 

(C) ୢమ୷
ୢ୶మ

= 0 

(D) ୢమ୷
ୢ୶మ

= ∞ 
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93. The curve xଷ + yଷ = 3axy  is 
symmetrical about the line : 
(A)   x-axis 
(B) y = x 
(C) y-axis 
(D) x = 1 

 93. oØ xଷ + yଷ = 3axy lefer gS 

fdlds% 

(A) x-v{k 

(B) y = x 

(C) y-v{k 

(D) x = 1 

94. The curve yଶ(2a − x) = xଷ  is 

symmetrical about the : 

(A)   x-axis 

(B) y-axis 

(C) Both the axes 

(D) None of above 

 94. oØ yଶ(2a − x) = xଷ lefer gS 

fdlds % 

(A) x-axis¼v{k½ 

(B) y-axis¼v{k½ 

(C) nksuksa v{kksa ds 

(D) dksbZ ugha 

95. The number of loops in the curve r =

a cos 2θ is : 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 95. oØ r = a cos 2θ  esa fdrus dqMyh 

gksxas % 

(A)   1 

(B) 2 

(C) 3  

(D) 4 

96. The node on the curve xଷ + yଷ −

3axy = 0 is : 

(A)   (0, 0) 

(B) (1, 1) 

(C) (1, 2) 

(D) (−1, 1) 

 96. oØ xଷ + yଷ − 3axy = 0 dk uksM 

gksxk % 

(A)   (0, 0) 

(B) (1, 1) 

(C) (1, 2) 

(D) (−1, 1) 
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97. Test for point of inflexion at a 
appoint P of the curve is : 

(A)   ୢ
మ୷

ୢ୶మ
= 0 but ୢ

య୷
ୢ୶య

≠ 0 

(B) ୢమ୷
ୢ୶మ

= 0 also ୢ
య୷

ୢ୶య
= 0 

(C) ୢమ୷
ୢ୶మ

≠ 0 

(D) ୢయ୷
ୢ୶య

≠ 1 

 97. oØ ds fdlh fcUnq P ij foHkfDr dk 

ijh{k.k gS % 

(A)   ୢ
మ୷

ୢ୶మ
= 0 ysfdu ୢ

య୷
ୢ୶య

≠ 0 

(B) ୢమ୷
ୢ୶మ

= 0 vkSj ୢ
య୷

ୢ୶య
= 0 

(C) ୢమ୷
ୢ୶మ

≠ 0 

(D) ୢయ୷
ୢ୶య

≠ 1 

98. The condition for a curve to be 

convex at any point P to the axis x is 

: 

(A)   y ୢ
మ୷

ୢ୶మ
> 0 

(B) ୢమ୷
ୢ୶మ

= 0 

(C) ୢమ୷
ୢ୶మ

= 1 

(D) ୢమ୷
ୢ୶మ

< 0 

 98. x-axis ds fdlh fcUnq P ij oØ ds 

mÙky gksus dh ‘krZ % 

(A)   y ୢ
మ୷

ୢ୶మ
> 0 

(B) ୢమ୷
ୢ୶మ

= 0 

(C) ୢమ୷
ୢ୶మ

= 1 

(D) ୢమ୷
ୢ୶మ

< 0 

99. A closed curve has : 
(A)   No asymptotes 
(B) One asymptotes 
(C) n asymptotes 
(D) Infinitely many asymptotes 

 99. can oØ j[krk gS fuEufyf[kr % 

(A) dksbZ vuarLi’khZ ugha 

(B) ,d vuarLi’khZ 

(C) n vuarLi’khZ 

(D) vufxur vuarLi’khZ 

100. The asymptotes of the curve ୟ
మ

୶మ
−

ୠమ

୷మ
= 1 is : 

(A)   2 
(B) 3 
(C) 4 
(D) 5 

 100. oØ ୟ
మ

୶మ
− ୠమ

୷మ
= 1 dk vuUrLi’khZ gksxk 

% 

(A)   2 
(B) 3 
(C) 4  
(D) 5 

****** 
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